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j ~ " Please read"this inrfor'r'nation‘ befor'e the ex'am,inet_ion starts.

@ This examination is 60 minutes long. t

o Al questions should be attempted

e A row of dots .......... denotes a space for your answer

e d e Where answers are not exact they should be glven to three sngntflcant flgures unless
N ' specafled otherwise. ' g _ : :

-7, 8 The T button on your calculator should be used for ca[cu[attons tnvolwng . |

- 8.A. 2839228 - @ lndependent' Schools Examinations Board -




. | 1 sigr_liﬁcant figure:

1. (i) () Rewrite the following calculatio
| | 63.1-29.8

pa T e

309 x 1.82

n, rounding each numberto

| ANSWEr: ~ smesesesee e @

------------------------

(b)Y Work but the value of your answer to part (i) (a).
ANSWET: ovuieercesranararses T (1)
.' (i) (@) Writing down all the'figures on your calculator, find the decima! value of

63.1-29.8
309 x1.82

ANISWET. oo eseeessesesssenssesass . {2

(b) Write your answer to part (i) (a) correct td

(i) 2 decimal places

CANSWEE e M
' (i) 2 significant figures
| | | ASWET: oo (1
S.A.2839228 2.



2. Inthis quest:on you are told that o %
o : 1 Iltre is equrvalent to 1.76 pmts

Atub holds,_.ts litres of water.

() How many pints does the tup hold? ~ —

'.”An'swer:' oot etius s st ssierneci s e pints - (2)

_ The human body contarns approxrmately 9 pmts of blood

(n) Wrrte thrs amount in Irtres o .
Grve your answer correct to 1 decnma! place :

o T e E | Srgm e, Answer:-'....‘...t.' ....... ssebissoidioetnne TR (_2) _

Sarah’s Serious Smoothres are sold at a pnce of 23 50 per litre.

(iii) Calculate the prrce of a- prnt of Sarah s Serrous Smoothres.-
' Grve your answer to the nearest penny.

ANSWEN! ooiuvisisemsmsivssssssensessessssenis PONCE. (2)

V'S.A'.2839228 | T : 3. L T | ~ Turn over



. Jullan is tralnlng for a 40-kilometre bleC!e race. 96 mmuteS .
On his first attempt, he cycles 40 kllometres in T
() Write this time in hours as a decrmol. ’
BAGWET s tines ot fosvusinnrces h (1
(i) Calculate his average speed in kilometres per hou.
f

‘Ahswerf km/h —r(-z)

‘He works out that he needs to rncrease hIS speed by 28% in order to win the race

‘ (m) At what speed does he need to cycle to win the race’?

Answer: ... kmh @)

(_iv_) How'_long, in minutes, would it take him t‘o Cycle 40 kilometres at this new speed?

-----------------------------

.
se®
----------------------
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4.

Dan has 2 fair spinners.

Dan spins both spinners.

(i) Complete the table below to show all the possible outcomes.

1 2 3 4
1
3 3,2
5
(2)
(i) What is the probability that
(@) the two numbers are both prime numbers?
11 ) o s W R el (1)
(b) the two numbers have a total of less than 672
ANSWEN i ol lodnne: o, oot St SIS, (2)
(iii) Complete this sentence.
The probability that the total of the two numbers is at least ........... is -;; (1)
Both spinners show odd numbers.
(iv) What is the probability that their product is a square number?
ARSWEE Bl s ittt test o b (2)
S.A. 2839228 5
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5. Bobis maklng a c:rcu[ar mousemat ~E g ures 5 cm by 40 cm'. S
" Hehasa rectangular pnece of foam WhICh meas T

_______-—-—"" notto
A i ik gcale
321!3“1 ‘

4—-——'40 cm——“"'

STy | £t the fdam?
‘(i) What is the radius of the Iargest C|rcle WhICh he could cut from e

He demdes to cut out a mousemat W|th rad:us 12 cm

- (||) Calculate the area of the m0usemat

----------------------------------------------

" He throws away the fer_hai'hder of the rectangle.

(i) What pé{r‘c:e‘ntage of the recténgle does he throﬁ 'a\lfvay?' -

.......
ine
R T PR T b
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Bob designs a logo for his mousem
and a semicircle with radius 6 cm,

at, consisting of a right-angled isosceles triangls
Here is his_éketch: |
“notto

scale

(iv) Calculat'e__'the length d of this logo.

POGWET, issmsussmssisnisimisisiionmomnnmemmnsans cm (2)

(v) Calculate the perimeter of this logo.

ANSWET: ouoeeicieeerecann N TN tieeeeaes cm (3)

S.A. 2839228 o 7 | = ~ ‘Turmover



g 6. :,‘Sih.‘liplify _th'e'_‘follov'ving eXp_re_S_sionS:

() abx-a®

. J‘ ey A.nSWer: ... ...... s .(2)

) 42

: -An5wer_: ..... ....... | :(2') '_

K 7. (a) "Mu.lt_iply out the brackets and sin'jpl'ify -

o hep-@-p

o AnSWer: 2

(i) 2(q+ 1)~ 36 - 3q)

.........
.........................................

~ (b) ,Factdr_is_e compléteiy 21w + 7w

................
......................................

 S.A. 2839228 S e DL




(c) Here are some algebra cards: .'

2 : 4 _
(i) Write dqwn the card which has the same value as 242 + 3d?
| _ _ :
j ' . Answer; ............ SR s S (1)
(i) Which 2 cards multiply iogeth’er to make 30d%?
Q
: : and |- - -
ANSWE: ...oommmm e, et S (1)
- 8. (a) Aregular polygon has an exterior angle of 120°.
s (i) Sketch this polygon.
- 0
()
(i) Write down the full mathematical name of this palygon. |
1 | . ANSWET: 1ottt 1)
(b) Calculate the total of all the interior angles of a regular pentagon.
CANSWEE: i (2)
S.A. 2839228 | 9 Tumover
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' | o 1 illi ave.
9. Denise, the dentist, asked 20 people how many filings they h_
Here are the results: '

" number of filings number-of peqp[e,
T 10
t PRSI 6
2 | | 5
| 3 - 1
5 1
“total | 20

She draws a pie chart to show her results.

(1) How many degrees represent one person?

(it) Draw a fully-labelled pie chart to represent this information.

(3)

S.A. 2839228
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il A i i it e &,
;

| : (iv) Calculate the rn_eam number of fillings pér pérsén |

.................................... (1)
(v) Calculate the r_ned_ian number of filings per. person. |
ANSWET e, AR @)
10. The difference in size between the largest and smallest angles ina triangle is 48°.
The sum of these angles is 120°. - ' : ‘
(i) Write the ratio of the three angies of the triangle in its simplest forr_ri.
Answer: - SR (3
Bob enlarges the triangle with scale factor 2 : |
: | . : iangle.
(ii) ) Write down the size of the smallest angle in the enlarged triangle
o]
ANSWEL:  veciicnimisainnisensesrisanns (D
o Turn over -
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(|) A stralght hne has the equatlon 2y X + "

( a) For this stralght iine, complete the table of VaWeS -

(b) On the grid below, draw the graph of "2y ='.x‘_.|..43 e

"N
wJ

(1R T B B o S x . . o “ 4= "~

T HE HH w3k
. i }
- NN . & - 1

S

L i
L b .
] .l . Lot
LI B EHAmsEsanamSNSSEANANEEANN s
: EREE

g T S Sl T G

(i) (a)”When' y='3—%‘x - -complete this table of values:

yolms o b s

(b) On the gnd draw the graph of y 3

(m) From your graph fmd the two values of x where the Ilne and curve mtersect

Answer X= and ..... ":(2)7

S.A. 2839228 RTR
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13. Jack has been grven a copy of thIS rectangle.
The perlmeter of hIS rectangle is 40 centlmetres " '

_.___.._ 2xom—-——-—-‘ : : 'notto_'- A

- scale g,

éycm‘

1 (i) Wnte an equatlon in terms of xand y, ‘for the perlmetel’ Of the. rect
Slmpllfy your answer _:' ' : - ' '

angle.»- T

© Jack then cuts hns rectangle in half as shown and puts the two pleces together to 2
make a new reotangle ; _ ] :

- The perlmeter of the new rectangle is 62 cm..

: - notto scale -

(i) Write an equatron in. terms of x and y, for the perlmeter of hlS new rectangle r
Slmplrfy your answer ; :

........
----------
B R T S T T L




> (iii) Solve your t\‘)\_fo'eq'uati'dns ib'fihd 'th'e- Vét;luési lf‘

7 Answer:

R A b o
Siiy= o st S e (1,

"~ (iv) Write down the area of the original rectangle. - e,

----------------------------------------------

AR A

------

“Turn over




| 1.4 For each expresswn below X, yand z each represent a dlfferent whofe number from

1t0 9

» For example when

mcluswe

x3y

226

nmy+3_3u0x2+m 78

(i) Flnd va[ues of X, yand 2 WhICh g:ve the Iargest vafue for each expressmn

_[.’expresslio'n' B

“value of x

.__velue of y

‘valueof z |

largest value

. of expression -

X(10y+2)

R _.7 ;)( 4- . : P -
ﬂy"—zl .

(i) Find values of x, y and z which give the smallest positive value for

| E'i‘ ~20isa Smﬂellerrnu‘mher'than -10 _', ]

(iii) ‘Find vaiUes of xy and Z which give the sm'alles; value for - X

I

------------------------------

------------------------------

-------------------------------

' (Totall‘.marks: 100)'_ "

-------------------------------

------------------------------
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